
Multiply and Divide by 10⁻³ (I)Find each product or quotient.
1.7849 × 10⁻³ = 2.4644 ÷ 10⁻³ =
3.178 × 10⁻³ = 8.5 × 10⁻³ =
4.6563 ÷ 10⁻³ = 7.5662 ÷ 10⁻³ =
1.9 × 10⁻³ = 3.2951 × 10⁻³ =
8.5416 × 10⁻³ = 8.6022 × 10⁻³ =
6.7 × 10⁻³ = 7.996 × 10⁻³ =
8.6 ÷ 10⁻³ = 9.1 ÷ 10⁻³ =
3.06 ÷ 10⁻³ = 8.6041 ÷ 10⁻³ =
5 × 10⁻³ = 2.5046 ÷ 10⁻³ =
9.169 ÷ 10⁻³ = 7.59 ÷ 10⁻³ =
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Multiply and Divide by 10⁻³ (I) AnswersFind each product or quotient.
1.7849 × 10⁻³ = 0.0017849 2.4644 ÷ 10⁻³ = 2,464.4
3.178 × 10⁻³ = 0.003178 8.5 × 10⁻³ = 0.0085
4.6563 ÷ 10⁻³ = 4,656.3 7.5662 ÷ 10⁻³ = 7,566.2
1.9 × 10⁻³ = 0.0019 3.2951 × 10⁻³ = 0.0032951
8.5416 × 10⁻³ = 0.0085416 8.6022 × 10⁻³ = 0.0086022
6.7 × 10⁻³ = 0.0067 7.996 × 10⁻³ = 0.007996
8.6 ÷ 10⁻³ = 8,600 9.1 ÷ 10⁻³ = 9,100
3.06 ÷ 10⁻³ = 3,060 8.6041 ÷ 10⁻³ = 8,604.1
5 × 10⁻³ = 0.005 2.5046 ÷ 10⁻³ = 2,504.6
9.169 ÷ 10⁻³ = 9,169 7.59 ÷ 10⁻³ = 7,590
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